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Mathematics

1. The degree of the differential equation

 is

A. 1

B. 2

+ 3( )
2

= x2 log( )
d2y

dx
2

dy

dx

d2y

dx
2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HpZ8B7XIcUFs


C. 3

D. none of these

Answer: A

Watch Video Solution

2. The general solution of  represents a

parabola when

A. a = , b = 0

B. a =1 , b = 2

C. a = 0 , 

D. a= 2 , b= 1

=
dy

dx

ax + h

by + k

b ≠ 0

https://dl.doubtnut.com/l/_HpZ8B7XIcUFs
https://dl.doubtnut.com/l/_pgfCn1aOssbF


Answer: C

Watch Video Solution

3. The rate of increase of bacteria in a certain culture is

proportional to the number present . If it doubles in 5

hours , then in 25 hours , its number would be

A. 8 times the original

B. 16 times the original

C. 32 times the original

D. 64 times the original

Answer: C

https://dl.doubtnut.com/l/_pgfCn1aOssbF
https://dl.doubtnut.com/l/_NggCNyzJT8pn


Watch Video Solution

4. If the vector

are three non-coplanar vectors and  = 0

, then the value of abc is equal to

A. 2

B. 1

C. 0

D. 

Answer: D

W h Vid S l i

→
a = î + aĵ + a2k̂,

→
b = î + bĵ + b2k̂,

→
c = î + cĵ + c2k̂

∣
∣
∣
∣
∣

a a2 1 + a3

b b2 1 + b3

c c2 1 + c3

∣
∣

∣

∣
∣

−1

https://dl.doubtnut.com/l/_NggCNyzJT8pn
https://dl.doubtnut.com/l/_ZFGEndKDmWMW


Watch Video Solution

5. If  , then the value of 

 is equal to

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

∣
∣
→
a ∣

∣ =
∣
∣
∣

→
b

∣
∣
∣

=
∣
∣
∣
→
a +

→
b

∣
∣
∣

= 1

∣
∣
∣
→
a −

→
b

∣
∣
∣

√3

√2

√3/2

https://dl.doubtnut.com/l/_ZFGEndKDmWMW
https://dl.doubtnut.com/l/_BMI7aCnxyI3S


6. If  , a vector of magnitude 50 , is collinear with the

vector  , and makes an acute angle

with the positive direction of z-axis , then the vector 

is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

→
a

→
b = 6 î − 8ĵ − k̂

15

2
→
a

24 î − 32ĵ + 30k̂

−24 î + 32ĵ + 30k̂

16 î − 16ĵ − 15k̂

−12 î + 16ĵ − 30k̂

https://dl.doubtnut.com/l/_PIgI2qKnnz3x


7. A unit vector perpendicular to the two vectors

 and  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

î + 2ĵ − k̂ 2 î + 3ĵ + k̂

35(5 î − 3ĵ − k̂)

√35(5 î − 3ĵ − k̂)

(5 î − 3ĵ − k̂)
1

√35

(5 î + 3ĵ − k̂)
1

35

8. If  and  ,

then the value of  is equal to

→
p =

→
a −

→
b ,

→
q =

→
a +

→
b ∣

∣
→
a ∣

∣ =
∣
∣
∣

→
b

∣
∣
∣

= 2

∣
∣
→
p ×

→
q ∣

∣

https://dl.doubtnut.com/l/_xKfaaFXrAsLV
https://dl.doubtnut.com/l/_e6jECQab8GJ0


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2√16 − (
→
a ⋅

→
b )

2

√16 − (
→
a ⋅

→
b )

2

2√4 − (
→
a ⋅

→
b )

2

√4 − (
→
a ⋅

→
b )

2

9. Forces of magnitude 3 and 2 units acting in the

directions  and  respectively

act on a particle which is displaced from the point (1 , 1 ,

-1) to (3 , 3 , 1) . The work done by the forces is equal to

5 î + 3ĵ + 4k̂ 3 î + 4ĵ − 5k̂

https://dl.doubtnut.com/l/_e6jECQab8GJ0
https://dl.doubtnut.com/l/_239oAKQs6BS6


A.  units

B.  units

C.  units

D.  units

Answer: D

Watch Video Solution

80√2

40√2

16√2

8√2

10. If A , B , C , D are four points in a straight line such

that distance from A to B is 10 , B to C is 5 , C to D is 4

and A to D is 1 , then their correct sequence is

A. A − B − C − D

https://dl.doubtnut.com/l/_239oAKQs6BS6
https://dl.doubtnut.com/l/_ljsA85KgZgCB


B. 

C. 

D. 

Answer: C

View Text Solution

C − D − A − B

A − D − C − B

C − B − A − D

11. The modulus and principal argument of the complex

number  are , respectively

A. 

B. 

C. 

1 + 2i

1 − (1 − i)2

1, π

1, − π

1/2, π

https://dl.doubtnut.com/l/_ljsA85KgZgCB
https://dl.doubtnut.com/l/_qeA789hmZ4p1


D. .

Answer: D

Watch Video Solution

1, 0

12. If  is a complex cube root of unity , then the value of

 is

A. 1

B. 

C. 3

D. 0

Answer: D

ω

ω99 + ω100 + ω101

−1

https://dl.doubtnut.com/l/_qeA789hmZ4p1
https://dl.doubtnut.com/l/_nErbx0LQrfOr


Watch Video Solution

13. If  Q where  denotes the

sum of the first n terms of an A.P. , then the common

difference is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Sn = nP +
n(n − 1)

2
Sn

P + Q

2P + 3Q

2Q

Q

https://dl.doubtnut.com/l/_nErbx0LQrfOr
https://dl.doubtnut.com/l/_rjSsRVatReyf


14. If  are in G.P. , then 

 and  are in

A. A.P.

B. H.P.

C. G.P.

D. none of these

Answer: B

Watch Video Solution

x > 1, y > 1, z > 1

,
1

1 + logx

1

1 + logy

1

1 + log z

15. The roots of the equation

 are(q − r)x2 + (r − p)x + (p − q) = 0

https://dl.doubtnut.com/l/_zx0wNEvChhfx
https://dl.doubtnut.com/l/_c9NDzS0nTJP1


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

,
r − p

q − r

1

2

, 1
p − q

q − r

, 1
q − r

p − q

,
r − p

p − q

1

2

16. If the equation 

where m , n are non- zero constants and  ,

satisfied by x = pm + pn , then the ordered pair (p , q) is

equal to

(x + m)2 − (x + n)2 = (m − n)2

m2 ≠ n2

https://dl.doubtnut.com/l/_c9NDzS0nTJP1
https://dl.doubtnut.com/l/_AvCUNfQQXBGY


A. (0 , -1)

B. (-1 , 0)

C. (1 , 0)

D. (0, 1)

Answer: A

View Text Solution

17. If a man and his wife enter a bus , in which five seats

are vacant , then the number of different ways in which

they can be seated is

A. 2

https://dl.doubtnut.com/l/_AvCUNfQQXBGY
https://dl.doubtnut.com/l/_VKoW8fKOIybF


B. 5

C. 20

D. 40

Answer: C

Watch Video Solution

18. The expansion of  , by binomial

theorem, is valid when

A. 

B. 

C. 

(1 + 2x) − 1 / 2

x > 1/2

x < 1/2

−1/2 < x < 12

https://dl.doubtnut.com/l/_VKoW8fKOIybF
https://dl.doubtnut.com/l/_2bSLEVYKkRHq


D. .

Answer: C

View Text Solution

−2 < x < 2

19. If

 ,

then  equals

A. 

B. 

C. 

D. 

(1 + x + x2)
n

= a0 + a1x + a2x
2 + … + a2nx

2n

a0 + a2 + a4 + … + a2n

3n + 1
2

3n − 1
2

1 − 3n

2

3n +
1

2

https://dl.doubtnut.com/l/_2bSLEVYKkRHq
https://dl.doubtnut.com/l/_BpWC8VSWEvZe


Answer: A

Watch Video Solution

20. If  , then  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log4 7 = x log7 16

2/x

x2

x

2x

https://dl.doubtnut.com/l/_BpWC8VSWEvZe
https://dl.doubtnut.com/l/_hNTlM2OI1fIe
https://dl.doubtnut.com/l/_rqjjT9d14yiu


21. The matrix  is of order

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[
2 6 1

1 9 3
]

3 × 2

2 × 3

6 × 9

2 × 1

22. If A =  , B =  and 

, then the value of x must be

[
1 2

5 6
] [

3 5

x −4
] A + B = [

4 7

6 2
]

https://dl.doubtnut.com/l/_rqjjT9d14yiu
https://dl.doubtnut.com/l/_sFYVpSVSSgOt


A. 6

B. 1

C. 0

D. .

Answer: B

Watch Video Solution

−1

23. If  are the roots of the equation 

, then the matrix product  is equal to

A. 

B. 

α, β 1 + x + x2 = 0

[
1 β

α α
][

α β

1 β
]

[
1 1

1 2
]

[
−1 −1

−1 2
]

https://dl.doubtnut.com/l/_sFYVpSVSSgOt
https://dl.doubtnut.com/l/_aPh6ig3HrMRL


C. 

D. 

Answer: B

Watch Video Solution

[
1 −1

−1 2
]

[
−1 −1

−1 −2
]

24. If the determinant  , then x is equal to

A. 2 or -2

B. 3 or -3

C. 1 or -1

D. 3 or 4

∣
∣
∣
∣

x 1 3

0 0 1

1 x 4

∣
∣

∣
∣

= 0

https://dl.doubtnut.com/l/_aPh6ig3HrMRL
https://dl.doubtnut.com/l/_sJDU0Q0KQ5P1


Answer: C

Watch Video Solution

25. The value of the determinant 

 is

A. x

B. y

C. z

D. 0

Answer: D

W h Vid S l i

∣
∣
∣
∣
∣

1 x x + z

1 y z + x

1 z x + y

∣
∣

∣

∣
∣

https://dl.doubtnut.com/l/_sJDU0Q0KQ5P1
https://dl.doubtnut.com/l/_wmMaMpZAffDb


Watch Video Solution

26. If the matrix B be the adjoint of the square matrix A ,

l be the identify matrix of the same order as A , and

 be the value of the determinant of A , then AB

is equal to

A. I

B. KI

C. 

D. .

Answer: B

Watch Video Solution

k( ≠ 0)

k2I

(1/k)I

https://dl.doubtnut.com/l/_wmMaMpZAffDb
https://dl.doubtnut.com/l/_0YVBPKExDEeq


27. If the system of equation :

 has

a non - zero solution , then the value of k is

A. 

B. 

C. 3

D. 5

Answer: C

Watch Video Solution

x + y + z = 0, 2x + 3y + 4z = 0, kx + y − z = 0

−1

1

https://dl.doubtnut.com/l/_0YVBPKExDEeq
https://dl.doubtnut.com/l/_UzVnXtXDuQxR


28. The value of

 is equal

to

A. 0

B. 

C. 1

D. 2

Answer: A

View Text Solution

sin 10∘ + sin 20∘ + sin 30∘ + …. + sin 360∘

1/2

https://dl.doubtnut.com/l/_lbIarDmkOiNn


29. If  , then the value of cos 2 A +

cos 2 B + cos2 C is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A + B + C = 3π/2

1 − 4 cosA ⋅ cosB ⋅ cosC

4 sinA ⋅ sinB ⋅ sinC

1 + 2 cosA ⋅ cosB ⋅ cosC

1 − 4 sinA ⋅ sinB ⋅ sinC

30. If  , then the value of  is=
sin(x + y)

sin(x − y)

a + b

a − b

tanx

tany

https://dl.doubtnut.com/l/_S3Qn7a7OjWr3
https://dl.doubtnut.com/l/_c5sxBlFmPSvS


A. a/b

B. b/a

C. ab

D. (a- b) / (a+ b)

Answer: A

Watch Video Solution

31. The value of  is equal to

A. cos 2 A

B. 8 cos 2 A

C. 

−
sin2 3A

sin2 A

cos2 3A

cos2 A

1

8 cos 2A

https://dl.doubtnut.com/l/_c5sxBlFmPSvS
https://dl.doubtnut.com/l/_2iqljTLkBqcs


D. 

Answer: B

Watch Video Solution

cos 2A

8

32. If 

, then x is equal to

A. 

B. 

C. 

D. 

sin− 1( ) + sin− 1( ) = 2 tan− 1 x
2a

1 + a2

2b

1 + b2

a − b

1 + ab

b

1 + ab

b

1 − ab

a + b

1 − ab

https://dl.doubtnut.com/l/_2iqljTLkBqcs
https://dl.doubtnut.com/l/_XsyBn6XVuIw1


Answer: D

Watch Video Solution

33. If in a  a + c = 2b , then the value of 

 is equal to

A. 4.5

B. 3

C. 1.5

D. 1

Answer: B

Watch Video Solution

ΔABC

cot ⋅ cot
A

2
B

2

https://dl.doubtnut.com/l/_XsyBn6XVuIw1
https://dl.doubtnut.com/l/_vqUOUCgs6qcL


34. A flag- staff 6 metre high is placed on the top of a

tower . The flag-staff casts a shadow , which is 

metre long wen measured along the ground . The angle

, in degrees , that the sun-rays make with the ground is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

2√3

60∘

45∘

30∘

15∘

https://dl.doubtnut.com/l/_vqUOUCgs6qcL
https://dl.doubtnut.com/l/_idoxrtYh1vKL
https://dl.doubtnut.com/l/_nV8imNJPeXq0


35. The equation ax + by + c =0 represents a straight line

A. for all real numbers a , b , c

B. only when 

C. only when 

D. only when at least one of a and b is non-zero

Answer: D

Watch Video Solution

a ≠ 0

b ≠ 0

36. The equation of the line passing through

 and having a slope of 4/7 is( − 1, − 2)

https://dl.doubtnut.com/l/_nV8imNJPeXq0
https://dl.doubtnut.com/l/_W4nDOmQNgqpZ


A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

7y + 10 = 4x

y = x +
4
7

10

7

x = y +
4
7

10

7

4x + 7y = 10

37. The angle between the lines 

and  is

A. 

B. 

x cosα + y sinα = a

x sinβ − y cosα = a

β − α

π + β − α

https://dl.doubtnut.com/l/_W4nDOmQNgqpZ
https://dl.doubtnut.com/l/_AV96A9IPNtBf


C. 

D. .

Answer: D

Watch Video Solution

+ α + β
π

2

− β + α
π

2

38. The co-ordinates of the centre and the radius of the

circle  , are , respectively

given by

A.  and 6

B.  and 7

C. (2 , -3) and 6

x2 + y2 + 4x − 6y − 36 = 0

( − 4, 6)

(4, − 6)

https://dl.doubtnut.com/l/_AV96A9IPNtBf
https://dl.doubtnut.com/l/_0d2HxvRdkR8A


D. (-2 , 3) and 7

Answer: D

Watch Video Solution

39. The equation 

represents a circle of non-zero radius if

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 + 2gx + 2fy + c = 0

g2 + f 2 > c

g2 + f 2 < c

g2 > f 2 + c

g2 < f 2 + c

https://dl.doubtnut.com/l/_0d2HxvRdkR8A
https://dl.doubtnut.com/l/_PEHKTSc8aadc


Watch Video Solution

40. The length of the latus rectum of the ellipse

 , is

A. 25/2

B. 16/5

C. 

D. 

Answer: C

Watch Video Solution

25x2 + 4y2 = 100

8/5

5/8

https://dl.doubtnut.com/l/_PEHKTSc8aadc
https://dl.doubtnut.com/l/_gfmHnM03j1OH


41. The standard equation of the hyperbola having the

distance between foci as 32 and eccentricity  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2√2

7x2 − y2 = 56

x2 − 7y2 = 56

7x2 − y2 = 224

x2 − 7y2 = 224

42. Find the eccentricity of the elipse + = 1
x2

16

y2

9

https://dl.doubtnut.com/l/_BqyWk5LLlKBM
https://dl.doubtnut.com/l/_JanfRYkDgtrt


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7/16

9/16

√7/3

√7/4

43. If the angle between the lines whose direction ratios

are 2 , -1 , 2 and x , 3 , 5 is  , then the smallest value

of x is

A. 

π/4

52

https://dl.doubtnut.com/l/_JanfRYkDgtrt
https://dl.doubtnut.com/l/_3JFWoDMQUNbb


B. 4

C. 2

D. 1

Answer: C

View Text Solution

44. The point of intersection of the lines

 and 

 is

A. (1/2 , 1/2 , -3/2)

B. (-1/2 , -1/2 , 3/2)

= =
x + 1

3

y + 3

5

z + 5

7

= =
x − 2

1

y − 4

3

z − 6

5

https://dl.doubtnut.com/l/_3JFWoDMQUNbb
https://dl.doubtnut.com/l/_Uicl166iG5eS


C. (1/2 , -1/2 , -3/2)

D. (-1/2 , 1/2 , 3/2)

Answer: C

Watch Video Solution

45. The point of intersection of the line joining the

points (-3 , 4 , -8) and (5 , -6 , 4) with XY- plane is

A. (7/3 , -8/3 , 0)

B. (-7/3 , -8/3 , 0)

C. (-7/3 , 8/3 , 0)

D. (7/3 , 8/3 , 0)

https://dl.doubtnut.com/l/_Uicl166iG5eS
https://dl.doubtnut.com/l/_itOFQ4RuLAsm


Answer: A

Watch Video Solution

46. If a real valued function of a real variable is defined

as f (x) =  , then the domain of the

function f , is given by

A. 

B. 

C. 

D. 

Answer: C

cos − 1(3x − 1)

{x : 0 ≤ x ≤ }
1

3

{x : 1 ≤ x ≤ 2}

{x : 0 ≤ x ≤ }
2

3

{x : 0 ≤ x ≤ }
3

2

https://dl.doubtnut.com/l/_itOFQ4RuLAsm
https://dl.doubtnut.com/l/_Aa58WIJRmeZR


Watch Video Solution

47. If X = { 1 , 2 , 3} and Y = {0 , 1} and f :  defined

by f = { (1 , 1) , (2 , 1) , (3, 0) } , then f is

A. one -to-one but onto

B. onto but not one-to-one

C. one-to-one and onto

D. neither one-to-one nor into.

Answer: B

Watch Video Solution

X → Y

https://dl.doubtnut.com/l/_Aa58WIJRmeZR
https://dl.doubtnut.com/l/_TDRxMHVI4R0v


48.  , is equal to

A. 5

B. e

C. 

D. 

Answer: C

Watch Video Solution

lim
x→ ∞

( )
x+ 4

x + 6

x + 1

e5

1/e5

49. If the function . 

 for x  
f(x) = 4 × 5x < 0

https://dl.doubtnut.com/l/_RjZOR2YdkGRb
https://dl.doubtnut.com/l/_hkXrjMlmvbBJ


= 8a + x for x  0 , is continuous , then the value of a is

A. 

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

≥

1/2

50. If  ,

then  is equal to

A. 

f(a) = 2, f' (a) = 1, g(a) = − 1, g' (a) = 2

lim
x→ a

g(x) ⋅ f(a) − g(a) ⋅ f(x)

x − a

−5

https://dl.doubtnut.com/l/_hkXrjMlmvbBJ
https://dl.doubtnut.com/l/_aGMP6UuTsUoU


B. 0

C. 

D. 

Answer: D

Watch Video Solution

1/5

5

51. The derivative of  with

respect to  x is

A. 

B. 

C. 

tan− 1[ ]
√1 + x2 − 1

x

tan− 1

1/4

1/3

1/2

https://dl.doubtnut.com/l/_aGMP6UuTsUoU
https://dl.doubtnut.com/l/_jvzm28cCBcez


D. 

Answer: C

Watch Video Solution

1

52. The value of dy/dx , when cos x =  and sin y

=  is

A. 

B. 

C. 

D. 

1

√1 + t2

t

√1 + t2

−2

−1

1

2

https://dl.doubtnut.com/l/_jvzm28cCBcez
https://dl.doubtnut.com/l/_I7kCiHK8wjDh


Answer: C

Watch Video Solution

53. If y = a cos 2 x + b sin 2 x , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ y = 0
d2y

dx2

+ 2y = 0
d2y

dx2

+ 3y = 0
d2y

dx2

+ 4y = 0
d2y

dx2

https://dl.doubtnut.com/l/_I7kCiHK8wjDh
https://dl.doubtnut.com/l/_6aKHyhsgvGAw
https://dl.doubtnut.com/l/_1bxZZnISzBIg


54. If 

and  , then

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

l1 = (esin x), l2 = lim
h→ 0

d

dx

esin ( x+h ) − esin x

h

l3 = ∫esin x ⋅ cos xdx

l1 ≠ l2

(l3) = l2
d

dx

∫ l3dx = l2

l2 = l3

https://dl.doubtnut.com/l/_1bxZZnISzBIg


55. The value of the integral 

dx is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫etan − 1 x ⋅
(1 + x + x2)

(1 + x2)

etan − 1 x + c

x2etan − 1x + c

(1 + x)etan − 1 x + c

xetan − 1 x + c

56. The value of the integral  is equal to∫
dx

x(1 + logx)
2

https://dl.doubtnut.com/l/_PHFTh3C2KuLo
https://dl.doubtnut.com/l/_hDnNOFrwiIsn


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−1

1 + x

−1

1 + logx

1

1 + logx

1

1 + x2

57. If the binary operation  is defined on a set of

ordered pairs of real numbers as

 and is associative , then 

 =

∗

(a, b) ∗ (c, d) = (ad + bc, bd)

(1, 2) ∗ (3, 5) ∗ (3, 4)

https://dl.doubtnut.com/l/_hDnNOFrwiIsn
https://dl.doubtnut.com/l/_pWTt9xlaQUmN


A. (74 , 40)

B. (32 , 40)

C. (23 , 11)

D. (7 , 11)

Answer: A

Watch Video Solution

58. The set of matrices 

forms a group under multiplication operation with

identify element

A. 

S = {[
x −x

−x x
]0 ≠ x ∈ R}

[
0 1

1 0
]

https://dl.doubtnut.com/l/_pWTt9xlaQUmN
https://dl.doubtnut.com/l/_QD2z9aGQI4wF


B. 

C. 

D. 

Answer: D

Watch Video Solution

[
1 −1

−1 1
]

[
−1 1

1 −1
]

[
1/2 −1/2

−1/2 1/2
]

59. Let p and q denote the following propositions : p : To

become an army officer you should be a graduate q : To

become an army officer you should have good health . 

Then the compound proposition "To become an army

officer you should be a graduate and you should have

good health " is represented as

https://dl.doubtnut.com/l/_QD2z9aGQI4wF
https://dl.doubtnut.com/l/_rv6fsOO9LPlA


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p ∨ q

p → q

p ∧ q

p ⇔ q

60. Indicate which of the following is a tautology .

A. 

B. 

C. 

(~p ∨ q)~(p ∨ ~q)

(~p ∨ ~q) → p ∨ q

(p ∨ ~q) ∧ (p ∨ q)

https://dl.doubtnut.com/l/_rv6fsOO9LPlA
https://dl.doubtnut.com/l/_X37WBY5ij3V6


D. 

Answer: D

View Text Solution

(~p ∨ ~q) ∨ (p ∨ q)

https://dl.doubtnut.com/l/_X37WBY5ij3V6

